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The slope perpendicular to 6/11 is -11/6
The slope parallel to the y-axg i undefined (1/0),
Calculate the slope of (2

1. What is the slope of the x-axis? --—--—---- | ot O

2. Perpendicular lines have _ opposite reciprocal _ slopes.
3. Whatis the slope perpendicular to the y-axis? 0 T~
4. Parallel lines have the same slope.

5. The slope of the y-axis is undefined (1/0)

6. The slope parallel to -5/7 is -5/7

7.

8.

9.

‘_
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y={x +b

1. State the slope perpendicular to y @ -4
Slope = 2

2. State the slope paredz| Fraiiz] to y @( +3

Slope = — 7/

C
3. State the slope@f:ga;itu‘@f toy :@x +2/3
-

——

Slope =

opp . ©
4. State the slopepEpréﬂ'rEmEnToy 8‘
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C
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saﬂ\ﬁ- SlOPL
Which line is pareket?

BV(S‘L a)y- -3
— b)y=@<-2

c)y=®<+8
L3 Ay

Nov 25-2:27 PM

Which line is
perpendicular?

Nov 25-2:27 PM
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opp vtl-

Find the @ze:gdﬂ'suiar slope to 2y = 6x - 8

2y =6x-8 Slope =~
- ope =D
\=(Qx — \_|. Answer=
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